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Question Id : 342123771 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension

The following table shows the total exports (in ¥ Core) of six countries A-F over the five years
from 2019 to 2023. Based on the data in the table, answer the questions that follow.

Country-wise Details of Exports.

Exports (in T core) in the vear
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Note: Income =Exports —Imports

Sub questions

Question Number : 1 Question Id : 342123772 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What was the income of all the six countries together in the year 2023 if the total imports of all
these countries together was 770 cores in the same year.

1. ¥ 250 crores

I

. % 320 crores
3. 2 560 crores

4. Z 480 crores

Question Number : 2 Question Id : 342123773 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In the year 2019, if the ratio of exports to imports for country D and country F are 1:2 and 4:1.
respectively, then what is the total import of countries F and D together in the same year?

1. % 104 crores

(]

. ¥ 184 crores
3.3 192 crores

4. % 130 crores

Question Number : 3 Question Id : 342123774 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If the export of country A in the year 2024 is 20% more than the combined export of country B in
2022 and the export of country E in 2021 together, then what is the income of country A (in T
crore) in the year 2024, if its import is T 184 crore for that year?

1. 106
2. 44
3.92
4. 68

Question Number : 4 Question Id : 342123775 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Over all the given years, the average export of country E is % more than the average
export of country C.

1,131
11
gl
11
5
3.13=
>
4.121
7

Question Number : 5 Question Id : 342123776 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



What is the approximate percentage increase in the export of all the countries together in the year
2022 in comparison to the year 2020?

1. 40.67%

(]

T2 39%
3. 38.89%

4. 62.99%

Question Id : 342123771 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension
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Question Number : 1 Question Id : 342123772 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 2 Question Id : 342123773 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 3 Question Id : 342123774 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. 106

2. 44
3.92
4. 68

Question Number : 4 Question Id : 342123775 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 5 Question Id : 342123776 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 6 Question Id : 342123777 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Reena wanted to eat an ice-cream. She took out a phone number online. She repeated the number
over and over again while dialing. After order was delivered she forgot the number. This is an
example of the use of which memory process?

1. Short-term memory

[

. Automatic Processing
3. Echoic Memory

4. Iconic Memory

Question Number : 6 Question Id : 342123777 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 7 Question Id : 342123778 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The contents of Swayamprabha channel —4 with the theme of “Education and Home Science™ are
provided by:

1. CEC, New Delhi

]

 IIT, Madras
3. IGNOU. New Delhi

4. IIT Delhi

Question Number : 7 Question Id : 342123778 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 8 Question Id : 342123779 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which higher-order knowledge can make the difference between how well and quickly one's
students learn material?

1. Declarative
2. Rote
3. Metacognition

4. Procedural

Question Number : 8 Question Id : 342123779 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 9 Question Id : 342123780 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are the interactive whiteboard softwares that allow teachers to create
digital lessons, annotate documents and collaborate with students in real time?

A. Jamboard

B. Camtasia

C. Stormboard
D. Concept board
E. Plotagon

Choose the meost appropriate answer from the options given below:

1. B and C only

[

A, Cand D only
3.C,Dand E only

4. A. B and E only



Question Number : 9 Question Id : 342123780 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 10 Question Id : 342123781 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In which type of assessment do students measure their own progress against their previous
performance rather than against external criteria or peers?

1. Peer Assessment

2

. Ipsative Assessment
3. Formative Assessment

4. Summative Assessment

Question Number : 10 Question Id : 342123781 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 11 Question Id : 342123782 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

which of the following represents the epistemological orientation of quantitative research?

1. Interpretivism
2. Constructionism
3. Positivism

4. Induetivism

Question Number : 11 Question Id : 342123782 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 12 Question Id : 342123783 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A measure of the consistency of observations of a single situation made by different people refers
to.

1. Construct validity

(]

. Internal validity

ad

. Split-Half reliability

4. Interrator reliability

Question Number : 12 Question Id : 342123783 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 13 Question Id : 342123784 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The approach in which researchers use the existing data to create groups for comparison is called

1. Operational

t-2

. Ex post facto
3. Experimental

4. Quasi-experimental

Question Number : 13 Question Id : 342123784 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 14 Question Id : 342123785 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the nominal variables.

A. Gender

B. Annoyance level

C. Caste

D. Temperature in Kelvin
E. Economic status

Choose the correct answer from the options given below::

1.A. B, CandD only
2. Aand C only
3.B and E only

4. A B, CandE only

Question Number : 14 Question Id : 342123785 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 15 Question Id : 342123786 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the probabilities corresponding to the standard normal variate *z' lying in the following
intervals, in increasing order.

A —n<z<+1
B.0<z<+3
C—-1<z<+1

D.z > +1

Choose the cerrect answer from the options given below:

1.D.,B, C, A

]

AB B A
3.A.C.B.D

4.B,D,A,C

Question Number : 15 Question Id : 342123786 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 16 Question Id : 342123787 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In communication, a text is a product of.

1. Non-responsiveness

]

. Military exercises
3. Social interaction

4. Neurological research

Question Number : 16 Question Id : 342123787 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 17 Question Id : 342123788 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The idea that mass media do not have much power to directly influence the audience led to the
concept of.

. Limited effects
2. Mass effects
3. Individual effects

4. Regulated effects

Question Number : 17 Question Id : 342123788 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 18 Question Id : 342123789 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are considered hot media?

A. Telephone

B. Television

C. Radio

D. Cinema

E. Photographs

Choose the correct answer from the options given below:

1. A, B. Conly

2.B.C.Donly

3.C.D.E only

4. A. D, E only

Question Number : 18 Question Id : 342123789 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 19 Question Id : 342123790 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following social sciences have contributed much to the knowledge of mass
communication?

A. Anthropology
B. Sociology

C. Psychology

D. Social medicine
E. Defence studies

Choose the correct answer from the options given below:

1. A, D, E only

b2

.C, D, E only
3.B.C.Donly

4. A, B, C only

Question Number : 19 Question Id : 342123790 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 20 Question Id : 342123791 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-T with List-IT

LISTI LISTII
Concept Related medium
A | Attention economy [. |Public speech
B. |Narrow casting II. | Television
C. | Synchronous audience III. |Internet
D |Peculiar form of presentness | IV, |FM Radio

Choose the correct answer from the options given below:

1. A-I, B-II, C-1II, D-IV

(]

. A-II, B-III, C-IV, D-1
3. A-III, B-IV, C-1, D-II

4. A-IV, B-1, C-II, D-IIT

Question Number : 20 Question Id : 342123791 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-I, B-II, C-III, D-IV

[

. A-II, B-IIL, C-IV, D-I
3. A-III, B-1V, C-1, D-II

4. A-IV, B-1, C-II, D-III

Question Number : 21 Question Id : 342123792 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



60 persons consume 300 kg of wheat in 40 days. In how many days will 25 persons consume 100
kg of wheat?

1. 28 days

(]

. 30 days
3. 32 days

4. 35 days

Question Number : 21 Question Id : 342123792 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 22 Question Id : 342123793 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Find the next term in the number series 2A11, 4D13, 12G17, 48123,

1. 245N32

f-2

. 228L.30
3. 240M31

4. 230M29

Question Number : 22 Question Id : 342123793 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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2A11,4D13, 12G17, 48J23,

1. 245N32

2

228L30
3. 240M31

4. 230M29

Question Number : 23 Question Id : 342123794 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

By selling 35 eggs for Rs 30, a man loses 25%. How many eggs should he sell for Rs 144 to gain

20%?

1.8

LA

[
o
h

4. 115

Question Number : 23 Question Id : 342123794 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 24 Question Id : 342123795 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In a certain coding language, the word *SLIGHT" is coded as “UJKEJR’, then the word
'GROUND will be coded as

1. ITQWPF

(]

. ISPVOH
3. IQRTOB

4. IPQSPB

Question Number : 24 Question Id : 342123795 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 25 Question Id : 342123796 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Three successive discounts of 10% 20% and 30% on the marked price of an item are equivalent
to a single discount of

1. 60%

I

. 50.4%
3. 54.6%

4. 49.6%

Question Number : 25 Question Id : 342123796 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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2

. 50.4%
3. 54.6%
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Question Number : 26 Question Id : 342123797 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the fallacy committed in the following statement: “Water is nonpoisnous compound.
Therefore, its components oxygen and hydrogen are nonpoisnous”™.

1. Fallacy of Division
2. Equivocation
3. Slippery Slope

4. Hasty Generalization

Question Number : 26 Question Id : 342123797 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 27 Question Id : 342123798 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



If the statement “No monkeys are feline.” is given as true then which of the following statements
can be interferred to be true?

. Some monkeys are felines

(]

. Some felines are monkeys
3. All felines are monkeyvs

4. Some monkeys are not feline

Question Number : 27 Question Id : 342123798 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e Hy ~Pis i daR [FSTad U gl 8 &1 Ug! A1 SIdl & oI ufarad | 4 fog oud
o el gl Dl AT I Sl Yebell g2

|. $D § faerad=i ug gid g
>, $3 faeadzl g IR gid ¢
3. gt fasTerdi U deR gid g

4. @ dc¥ fasTadil uy 4l gid g

Question Number : 28 Question Id : 342123799 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are logically equivalent.

A. No monkeys are felines.

B. Some monkeys are felines.

C. Some felines are monkeys.
D. Some monkeys are not feline.

Choose the correct answer from the options given below:

l. Aand D only

I

. B and C only

3. B and D only

=

.B. C and D only



Question Number : 28 Question Id : 342123799 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 29 Question Id : 342123800 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following two statements cannot both be true but can both be false?

A. All Monkeys are apes.

B. Some monkeys are apes.

C. Some monkeys are not apes.
D. No monkeys are apes.

Choose the correct answer from the options given below:

l. Aand D only

f-2

. A and C only
3. B and C only

4. B and D only

Question Number : 29 Question Id : 342123800 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 30 Question Id : 342123801 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following arguments is fallacious because the major term is all pervasive and the
middle term is all-inclusive?

1. The sky-lotus is fragrant because it is a lotus.

]

. Socrates is immortal because he died long ago.

3. Sound is eternal because it is audible.

-+

. Evervthing is nameable because it is knowable.

Question Number : 30 Question Id : 342123801 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 31 Question Id : 342123802 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following electronic technologies is the key technology for making the third
generation electronic computer?

1. Transistor based

I

. Integrated Current (IC) based
3. Vacuum tube based

4. Macroprocessor based

Question Number : 31 Question Id : 342123802 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 32 Question Id : 342123803 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following would create the most stable computer network with the fastest data
transmission?

1. Use a wireless access point to connect devices

(]

. Connect devices wirelessly using mobile phone
3. Use coaxial cables to connect devices in sequence

4. Connect devices to a switch using optic fibre cables

Question Number : 32 Question Id : 342123803 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 33 Question Id : 342123804 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the sequence of words A-E that correctly fills the blanks in the following paragraph:

In the context of human-computer interaction, a is an interface built around visual things
and Windows-11 is an example of an with these visual things. is region of
the screen used to display information. is a small picture that is used to represent
folders, software etc., whereas is a list of options that the user can select from.

A0S
B. Menu
C. Window
D. Icon
E. GUI
Choose the correct answer from the options given below:
LE.AC.EB B
2AEDCHEB
3.E.A.C.D,B

4.B,C,AE,D

Question Number : 33 Question Id : 342123804 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 34 Question Id : 342123805 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

With reference to the open source software, which of the following statements are correct?

A. It 1s a software that is distributed with its source code.

B. It allows anyone to modify the software to best fit their needs.

C. It is a software that anyone can use on a trial basis before paying for it.
D. Linux is a example of open source software.

Choose the correct answer from the options given below:

l.A. BandD only
2.A.B.CandD only
3. A.Cand D only

4. B and C only

Question Number : 34 Question Id : 342123805 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 35 Question Id : 342123806 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-IT

LIST1I LIST II
(Malware tyvpes) {Characteristics)
Trapdoor I. |Produces varying but operationally equivalent copies of itself
Time Bomb II. |Code that allows unauthorized quick access at a later time.

Polymorphic Virus | III. | Instructions interpreted rather than executed

ola|w|

Macro virus IV. | Triggers action when specified time occurs

Choose the correct answer from the options given below:
1. A-III, B-IV, C-1, D-II
2. A-IL B-1V, C-1, D-1II
3. A1, B-II, C-III, D-IV

4. A-1I, B-1, C-IV, D-IIT

Question Number : 35 Question Id : 342123806 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-III, B-IV, C-1, D-II

t-2

3. A-L, B-1I, C-IIL, D-1V

4. A-11, B-L, C-IV, D-III

. A-II, B-1IV, C-1, D-IIT

Question Number : 36 Question Id : 342123807 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following Green House Gases (GHGs) was considered during the second
compliance period of Kyoto protocol at Doha?

1. Sulphur Hexafluoride (SFg)

[

L

4. Perfluorocarbons (PFCs)

. Hydrofluoro Carbons (HFCs)

. Nitrogen Trifluoride (NF3)

Question Number : 36 Question Id : 342123807 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 37 Question Id : 342123808 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-IT

; i LIST I
(Particulate Matter {Explanation)
Terms) P

Particles formed by incomplete combination with mixture of carbon

A | Aerosol L 3
volatiles

B. |Nano Particles II. | Particles with size less then 2.3 micro meter

C. |Smoke IT1. | Particles with size less than 0.2 micrometer

D. |Fine particles IV, | Any solid or liquid particle suspended in air

Choose the correct answer from the options given below:

1. A-IV, B-1II, C-II, D-I

f-2

. A-IV, B-1II, C-1, D-II
3. A1, B-II, C-IV, D-II

4. A-1, B-11, C-III, D-IV

Question Number : 37 Question Id : 342123808 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. ATV, B-IIL, C-IL D-I
2. A-IV, B-IIL, C-1, D-II
3. A1, B-IL, C-IV, D-III

4. A-1, B-1I, C-III, D-IV

Question Number : 38 Question Id : 342123809 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is an example of negative feed back in the context of climate change?

. Oceans remove carbon dioxide from the air

t2

. Warming increases water vapour in air

3. Snow cover loss and 1ceshelf melt reduce sun's reflection

i

. Global temperature increases due to global warming

Question Number : 38 Question Id : 342123809 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 39 Question Id : 342123810 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Burning of solid waste, such as cans, batteries, plastic etc. generate

A. Microplastics

B. Chlorofluorocarbons (CFCs)

C. Dioxins

D. Polychlorinated biphenyls (PCBs)
E. Halons

Choose the correct answer from the options given below:

1. A, B, CandD only

t2

. A, Cand D only
3.B.Dand E only

4. B. C and E only

Question Number : 39 Question Id : 342123810 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 40 Question Id : 342123811 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-IT

LISTI LISTII
(Nature of substances) (Effect)
A | Allergens [. | Substances that cause cancer
B. |Carcinogens I1. |Substances that can hamper embryvonic growth
C. |Mutagens III. |Substances that activate the immune system
D. | Teratogens IV. |Substances that can damage or alter genetic material

Choose the correct answer from the options given below:

1. A-IV, B-1, C-II, D-III

2

. A-IV, B-11, C-1, D-TIT

3. A-IT, B-1, C-1II, D-IV

4. A-III, B-1, C-IV, D-II

Question Number : 40 Question Id : 342123811 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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2. A-IV, B-IL, C-I, D-TII
3. A-IIL B-L, C-II, D-IV

4. A-III, B-1, C-IV, D-1II

Question Number : 41 Question Id : 342123812 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A British official of the East India company who was interested in higher learning in India was.

l. Francis Gladwin

t2

. William Ward

3. William Adam

i

. William Jones

Question Number : 41 Question Id : 342123812 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 42 Question Id : 342123813 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The National Education policy, 2020 supported the idea of:

1. Science only education

]

. Fragmented research
3. Rigorous specialization

4. Segregating humanities and science

Question Number : 42 Question Id : 342123813 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 43 Question Id : 342123814 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The components of quality education identified in the national education policy of 2020 are:

A. Political affiliation
B. Curriculum
C. Pedagogy
D. Continuous assessment
E. Higher fee
Choose the correct answer from the options given below:
1. A. B only
2.B.C.Donly
3.C.D.E only
4. A, C.Eonly

Question Number : 43 Question Id : 342123814 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 44 Question Id : 342123815 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following norms are prescribed for foreign universities to set up their campuses in
India.

A. Foreign universities must invest in the Indian manufacturing industry.

B. They should have secured a position within the top 500 in global ranking.

C. They should have secured a position within the top 500 in global ranking in the subject-wise
category.

D. They should employ only Indians for teaching and non-teaching.

E. They should possess outstanding expertise in a specific area.

Choose the correct answer from the options given below:

1. A. B only

2.B.C.Donly

3.C,D,E only

4. B, C, E only

Question Number : 44 Question Id : 342123815 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 45 Question Id : 342123816 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-T with List-IT

LIST1I LISTII
Five vear plan Agency set up
Farst five year plan I. | Autonomous colleges

Second five vear plan| II. |University Grants Commission

Third five year plan | III. | Specialized departments of scientific studv

ola|w|

Fifth five vear plan IV, | Two rural institutes in Wardha and Mysore

Choose the correct answer from the options given below:

1. A-I, B-II, C-III, D-IV

I

. A-II, B-1II. C-IV, D-1

3. A-IIL B-IV, C-1, D-1I

o

. A-1V, B-1, C-II, D-IIT

Question Number : 45 Question Id : 342123816 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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2. A-II, B-III, C-IV, D-1

3. A-IIT, B-IV, C-1, D-II

4. A-IV, B-1, C-1I, D-III

Sub-Section Number : 3
Sub-Section Id : 34212333
Question Shuffling Allowed : No



Question Id : 342123817 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension

A careful study of the Rig-Veda shows that even in the early times, karma and jiiana were
recognized as two separate factors in the spiritual progress of man. Karma is connected with the
world immediately above the one in which we live; and jiiana is connected with the world further
above that. Agni and Indra are connected with sacrifices. and the gods of the highest world are
connected with prayer, and jiana. Since the Vedic Samhitas are intimately connected with
sacrifices, it i1s but natural that the gods connected with sacrifices, the gods of the two lower
regions, should be more prominent in the Rig-Veda. It is only through jiana that the soul can get
into a state of everlasting bliss. This jiana is esoteric knowledge. At the time of the Rig-Veda, the
rsis had evolved a highly complicated system of philosophy and that the value of jiana as a
means to final release from the world of physical bondage had been well established. The Yajur-
Veda and the Sama-Veda are of little importance to a student of ancient Indian culture. One notes
the same optimistic tone in the Yajur-Veda, regarding man’s life in this world and his future in the
other world. Material plenty is also quite noticeable. Gold and ornaments are spoken of freely as
covetable objects. Cows are mentioned in thousands. So far as culture is concerned, so far as
religion and philosophy go, there is no difference between the Rig-Veda and the other two Vedas

Sub questions

Question Number : 46 Question Id : 342123818 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In Rig-veda, Agni is connected with.

1. The world immediately above the one in which we live in

(]

. Sacrifices
3. Souls with everlasting bliss

4. The gods of Wisdom

Question Number : 47 Question Id : 342123819 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to Rig-Veda. Jiiana refers to.

. Primitive culture

(]

. Predominance of sacrifice

3. Everlasting bliss

Y

. The gods of the highest world that are connected with sacrifices



Question Number : 48 Question Id : 342123820 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The optimistic tone regarding man’s life in this world and his/ her future in the other world exists
in:

1. The Yajur-Veda
2. The Sama-Veda
3. The Atharva Veda

4. Rig-Veda

Question Number : 49 Question Id : 342123821 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

At the time of Rig Veda . the rsis valued jiiana as means.

1. To find signs of a gloomier side in man’s life
2. To sacrifice and dissociate
3. To find release from the world of physical bondage

4. To rule and regulate

Question Number : 50 Question Id : 342123822 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the original source of cultural life of the Hindus?
1. Itihasas
2. Puranas
3. Manu

4. Sacred Vedas

Question Id : 342123817 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 342123818 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 47 Question Id : 342123819 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 48 Question Id : 342123820 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 49 Question Id : 342123821 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 50 Question Id : 342123822 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Number of Questions : 92
Number of Questions to be attempted : 92
Section Marks : 200
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Sub-Section Number : 1
Sub-Section Id : 34212334
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 342123823 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 51 Question Id : 342123823 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 52 Question Id : 342123824 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 52 Question Id : 342123824 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 53 Question Id : 342123825 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 53 Question Id : 342123825 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 54 Question Id : 342123826 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Correct Marks : 2 Wrong Marks : 0
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Correct Marks : 2 Wrong Marks : 0
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Question Number : 56 Question Id : 342123828 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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3. R - HITa Ieg 9 <3 U &l S%ATd gl &l U
4. G Feq; &1 A1 b S Ul

Question Number : 57 Question Id : 342123829 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3¢ 9 [0dg RS- gd4H =
danL R, 3gs, W

3,36, 16, U4, ™

4.g°<, fSra. e, eiigg

—

[~

Question Number : 57 Question Id : 342123829 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

276 d (Rl BRb- Ul Ja=H =
1. dar R, sfige, T
2. 379, §d, ¥, ol
3. 3¢, TIe, 304, W
4.9Q fore, forfl, sige

Question Number : 58 Question Id : 342123830 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



FHCR UCAGRINEEE
1. S[&T1, g, Tel, dhial
2. =1, 16, g, Sl
3. ST, T, I T, daT

4. eI, R0, T, &Ml

Question Number : 58 Question Id : 342123830 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

$°¢ 9 Ui fa=ieH 7.
L. SIA1, =T, Fell, Shial
2. Fedl, C13, U, Sl
3. ST, T, o ST T

4. eI, R0, TATEAL, &M

Question Number : 59 Question Id : 342123831 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3¢ 9 qul dg SS7IHET feal dreaRaHl :
1. gaehT I, =T, T &1 WRals, 7Hdr feai 9Ri

2. dd &I A, Uec-eg YAV, 1Y BI3T I&dial, $d aadi fadt sRfcaf
3. dUT TS <1, YT M, id & WRls, U7 sfers

4. 7T 13T SGaRal, Gdadll, 9id &I Y3dls. Iea-2Msg GHY

Question Number : 59 Question Id : 342123831 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



3¢ 9 quf de Se7HT feal dreRaHl
1. GhT U, Ta«aT, T &1 WRells, HHT fei dRi

2. 9 &1 91, Uet-Tet WRAY, T 81311 d&aial, $d addi [ag1 SRfqar
3. dUT dls <1, Yl 9, Tid & WRls, Fu-fg sfers

4. 719 gI3f1 dedial, Odedl, Ui &I 93dls, Yeg-2e XA

Question Number : 60 Question Id : 342123832 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

$q d Hatlid G5 T
L oA I ArgH T
2. 3T Hel aar |
3. gdgis o 3fd|
4. 7 7 fofei

Question Number : 60 Question Id : 342123832 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3¢ A9 HUg U
L G ArgH |
2. 3T Bel Sar |
3. gdis o 3d|
4. 7 7 fofei

Question Number : 61 Question Id : 342123833 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



SRl bR g&Id ferd] < U:
1. gReR g 95|
2. HITeT ST SHRT |
3. GRS A

4. g gl

Question Number : 61 Question Id : 342123833 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SRl b Ral g&dd ferd] < U:
1. gRex Rig 75|
2. HITd ¥ SRT |
3. TR S A

4. g gl

Question Number : 62 Question Id : 342123834 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ERACRECRE A G REC IR
LSS |
2. AADR|
3. 9EldR|

4. i3l gRd

Question Number : 62 Question Id : 342123834 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



3¢ I AP DI & 91 U
RIUEARICT

Question Number : 63 Question Id : 342123835 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

sfdgN® dd da- sfigferdl dgiiai :
1. Bict feat e, Urgled, TR & 1=, YR HIg
2. 3T, Wikell 9, dferdiiaed d Alds, Roigl &l g
3. Roigl a1 eI, Dict et efidt, 0¥ ¢ 12m, Wikell 5d
4. W ATgH, dicidniad d Ards, Urgid, Sai-dH

Question Number : 63 Question Id : 342123835 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

sfdgN® do da- sfgfedl agiiai :
1. Bic feat dliei. Urgfed, T o =121, WRal 78]
2. 3, Wikell e, dfcidiiaed d Alds, Roigi &l g
3. Roigl &1 eI, Dict gt efint, 0¥ & 72, Wikl 9d
4. W g1g, dieidiied d |rds, urghd, Sai-&d

Question Number : 64 Question Id : 342123836 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



3¢ dSol AIBMERI R4 IR & dg! dgHl U:

INCEI

2. TBH U
3. Jddnl
4. BIoR]

Question Number : 64 Question Id : 342123836 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3¢ 9 B0l ARl G- IR i drel dgHi U:
L. 41
2. R U
3. Il
4. IoRI

Question Number : 65 Question Id : 342123837 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Uclieb T 9=l U= agIi=ai =:
1. O, YT, 791l
> Yabfedl =tst, Fudl fas Aidl, $1E &l drell faw?
3.3 B¢ s U=, feaR, A1 sRds Uis |

4. ISYRd, B &1 DIl fdwR, 307c

Question Number : 65 Question Id : 342123837 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



UdiibTere fa=l T Fgiat .
1. OTTel, HTH, H318-1
2. Yebicyi dist, Rudt fasH Ardt, SR o dre fdwR
3.3 Bg thy U=, faTaR, i1 3rds ura |

4. ISYRd, I &1 Drell fawR, 307c

Question Number : 66 Question Id : 342123838 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

$¢ 998 Yad ¢ Ardigrd faaon SRl dgii-mi A -
L. ST, TaEHI S, 318 a1 94, 76 o7
2. Wpex, Hau, foraferat, 76 a|
3. TG SHIA, STe &1 8, U, 93|
4. fadferat, sgan, TEeH SHA, R

Question Number : 66 Question Id : 342123838 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

2¢ 9918 Uiy & HHdidd fosul aRdel agigi - -
L. ST, TaEHI S, 319 a1 99, 76 o id
2. Wpex, HaeH, foaferat, 76 |
3. TgegH} i, STe & R, T, Sea

4. fadferal, Scan, e H! FHH, IR

Question Number : 67 Question Id : 342123839 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



YHeR 0y ¢ [Ty U gl 3U=Ury U:
1. Slld
2. T ¥ag
3. HPHH

4. 7l

Question Number : 67 Question Id : 342123839 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Yex Ty < ey gy sigdl 3u-ary U:
1. Sfld
G LY | IR T A5
3. HbH

4. 7l

Question Number : 68 Question Id : 342123840 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SHTe 9 HiTel 3UTE U:
1. 9= d S31ics Uiedh < Tfd T IR $ig]
2. ded d S3fies 91 € didh 1 Igd-dgd & WRayd
3. dod O Jofff HATE S0 §=R dd TReed
4. 9= d 93 UI¢l & did g1e ddig <l gl dd WReed

Question Number : 68 Question Id : 342123840 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



STl & HTel SUU U:
1. &= d 93{icS Urad & Bf i SR $Rg]
2. T d J3{ieS a7 ¢ didh &l gd-agd dd IRaed
3. dod o Soff HATE AU §R Do TR
4. 9= d 93 UII § didh T3¢ Ydle ¢l gl ddl WRaed

Question Number : 69 Question Id : 342123841 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3¢ 2009 ¢ 9 T TUA 3N ITATY
L. 7T 3{TURT &Rd ST, o, g
3. 87T O €, TRA] SRR R I
4.3 g1 g, Id-T, Wiell $isR

Question Number : 69 Question Id : 342123841 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

¢ 92009 ¢ 9 9 BUA Mg ITATY
L. T 3{TURT &Rd ST, o, i
3. 87T O €, RA1, SRR I
4.3 g1 gl a1, el siav

Question Number : 70 Question Id : 342123842 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



YIS QYR < {1 9 fqear-<a1g & R 71 9377 U=y .
1. 4 d glazd S el
2. e T STgal o daury
3. 09 d God fo-1 3186l
4. BRI R T HIIRY

Question Number : 70 Question Id : 342123842 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YIS YR < =1 9 fqedr-«a1g & R 1 937 U=y .
L. O d giagd el
2. oo [6H1 STgel d 96Uy
3. 09 d oo fo-1 STgdl
4. TIRA W Wiy

Question Number : 71 Question Id : 342123843 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ey 3 T1-2Uel U oige 9 MaUdR $d 9% IR AR &1 dd fadR Ha1 Ul 3d &l
U

1. STq T[eTTd I |
2. GERA A=A

3. gRAC S AI

4. AeH] AR |

Question Number : 71 Question Id : 342123843 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



ey 3 T2l U Sige 9 HaUBR $U 9% IR AfddTd ¢l dd fedR Ha1 Ul 3d &l

BCIERIGIERIEE]
2. TRRA A= |
3. gEc s |

4. TEHT TR |

Question Number : 72 Question Id : 342123844 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3¢ I RIS My T
L 4
2. TR
3. 9d &l fada e
4. AR

Question Number : 72 Question Id : 342123844 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ERACHCCINC GRS
L. %4
2. HEHd
3. 9d &l fade el
4. HYHI

Question Number : 73 Question Id : 342123845 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



g ¢ Sfig-am IR Jide fo= fiear U
1. AR G Ui

TRYT D131

GRI T

IR FGd ¢ IS I

f-2

L8]

e

Question Number : 73 Question Id : 342123845 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

iR ¢ Sfia-am IR dide fo= fiear .
L AR T Ut =

TRE BI31 T

G|

IR Gd ¢ IS I

[

L

4

Question Number : 74 Question Id : 342123846 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3¢ d SR AIAPH W AR §¢ TS Idd ey
2. Gu=ieiied I A dell, AR &1 Uf, g, §gh
3. UG, dgH. IEATR ¢ Hgdl ¢ [HifaR, Siddbiddd
4. TR, AHA, g, a1 IHRTS

Question Number : 74 Question Id : 342123846 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



3¢ 9 SR APV AR go ST Id ey =
1. ol AHERS, §gH. G, HID]

2. HYRIRITE AR Wdraar, AR & Ui, gad, 9gd
3. HYDR], dgH, IETR ¢ Hegd o (AR, Siabidad

4. TREH, TRB, GG, Dol ITRTS

Question Number : 75 Question Id : 342123847 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

I P e & URR :
1. STHGR, JTaT, Higde, i
2. 99, 9q, AIgdeR, I
3. TIeR, AIDICR, AT, Al

Question Number : 75 Question Id : 342123847 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

I P A1ed & URR :
1. SHGR, I, Aigde, T
2. 99, dq, AIgdsR, I
3. TR, AIDICR, A1, Tl

Question Number : 76 Question Id : 342123848 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TTY T §¢ e o714 fordl €1 dyrad 1 71id Te &3 g i U

L. Hidh-Hidh AdTED @lai-871 ¢ Hilld el SR, 4 & TN d fiwd-fel= TelieAd olgsi =
URR § ¥arg|

2. Hid-Alh "R $R& ¢ did o A=-TH
3. SId-871 ¢ P sifcad ¢ YA o Teedd dgel 9 U ¢l Teadrd
4. UEITEHD AIgo! d TR &1 Teadld d IRTd YT & TS did

Question Number : 76 Question Id : 342123848 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

EATY T §¢ e <d1d] foidl &1 dyrad 1M 71fd UeH Hi gl 3/ .

L. Fid-HID ISP gld-871 & Yiiid Hdl PR, YA < TN d fo=-fo= Uened® gl @
URR & Yaig|

2. Hidh-Hih R ®R& ¢ did o A/
3. SId-871 ¢ 3 difcad ¢ YA o Teed® dgel @ Ui &l Teasrd

4. U digsl 9 U &1 Tedlald o IRIS YU ¢ M did

Question Number : 77 Question Id : 342123849 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3 IRASY S U
L. TH §ART
2. ST (Ul Al T
3. g feat fefat
4. &d

Question Number : 77 Question Id : 342123849 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



3 QgAY e U
L. TH FART
2. Sl ST Al S
3. g feat fefat
4. B9

Question Number : 78 Question Id : 342123850 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3¢ 9 R SHEId g Aed A
1. fSRUMIY ®1S 42, dsdild, 3ets idl §iR JuIgl

Question Number : 78 Question Id : 342123850 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3¢ 9 RIYE oIETd g AICD :
1. [ERUFIY. 1S e, Hedi®, 3eds TMdl 4R JuTe!
2. GaYR, Afetad, IoRT, f9fmR

4. JHcid, GH-Hudl, qgrl, HRISIC

Question Number : 79 Question Id : 342123851 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



3IGRIATe] Tid IRd- TGl TTeR e &l URR U:
L. $e
2. Gt
3. !
4. UgddR

Question Number : 79 Question Id : 342123851 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3G RIATC] Tid XRd- AIZdl 7IeR Aled &l URRR U:
L. P,
2. Gt
3. @I
4. UGdDR

Question Number : 80 Question Id : 342123852 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

giare ¢ eRTdd IR fordt 71 T9A1 U
L. 793 d THhId < TR 3% (IUATH)

2. BRI (@R FE)
3. 304 WRIT (ThHidHT TIg)

4. Hadl® (A1cdh)

Question Number : 80 Question Id : 342123852 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



gYTdTe ¢ eRTdd UR ferdl 161 a1 U:
AR d AP §1 SR 32b (JUIN)
LS NICHEIRD

- 30 Y (THiaeT g

4. Hedld (AICH)

—

f-2

L8]

Question Number : 81 Question Id : 342123853 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o U <=l it der, fora diaet ds1 = =4l U 9 AR, Hef HIH A5 el H1eaid 9 3fddR
ETWIIFTQ:

L. -G &

2. IUHGIYAT €T

3. THAMTHT &

4. IHYH] AIATIH &

Question Number : 81 Question Id : 342123853 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

@ﬁﬂﬂ?ﬂaaﬁm@ﬂamaﬂﬂ@ﬁ HGTR, Tl U 3 T ST T ATR
<l TN U:

. S-IgIgHT &

2. IUHGIYAT &

3. THAMTHT G

4. SHYHT HIATTHT T

Question Number : 82 Question Id : 342123854 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



e 9 @rd 7 TS Hd a1, faftiTd 9 dawdi 7T d8%- @l HIeaiR g Gl U
L 4fdPg
2. gy
3. PG
4. 7 $Id

Question Number : 82 Question Id : 342123854 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

qfed 9 drd A g o, [T 9 dddi 1T dS%- ol HIeui d gl U:
1. Yfd&e

gay

3. Ugddd
4. d G&pid

[~

Question Number : 83 Question Id : 342123855 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“ehig I defl  J1a1 Ag1E - e af 3 U
1. YIgST S48l g3 ¢ @1 gl ST |
2. UIEST st BT QT 3 I TR Y1 & I oI
3. g fora e ffaad fRwd gt =l

4. 01 951 1 [EfRIY 985 B ST

Question Number : 83 Question Id : 342123855 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



“ehig = el I 16T A8TS " G &f 34 U
1. YIgST 95T 23 & &1 g1 S|
2. UTEST ol B QRT3 81 TR Yddb+] &1 T T
3. g fora fereT ffarat fgma ot =l
4. AT 931 S fEfRIY 958 &1 &)

Question Number : 84 Question Id : 342123856 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

93 FIRd <l 9 SUR G351 Y Hdled 9 7MY Sid .
1. o1, fsf-at, ide Tid|
2. e, 39-99, dlsigl-i |
3. QeI ISt Pl id|
4. gl Ryatat, fasm)

Question Number : 84 Question Id : 342123856 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T e e
L. e, f9afat, diaa 7id|
2. e, 3-9%, dlsiglai |
3. GRTI-HIfSat, Siad Tid|
4. diemgfal, faafat, fée

Question Number : 85 Question Id : 342123857 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



diedd TRwU <l FHaa e fidl T
L. 39 11 37T 3ichedl ol T A 4l
2. SUM T QU IR WA A |
3. 3AE M qU t Hag HA
4. 39 W &E U g P A |

Question Number : 85 Question Id : 342123857 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

dibd qRay ¢l Riad-gg1 fadl T
L 39 70 3(T-T 2fchell ol HH B 4|
2. THM T gU TR 1R & & |
3. 3AE M QU AGE PA TN
4. 39 W B¢ U g PG|

Question Number : 86 Question Id : 342123858 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

®HR$ d 91 9 B gigl U:

1. ATdTERY] d C=IhTd &l

2. TH WA d UTeR € fdhrgR @l
3. Ta219%] d Uk & [dhRaR ol
4. SRIDT d ez Addl a1

Question Number : 86 Question Id : 342123858 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



SR d IR T e Blal U:

1. ATTaR0T d GRIDTe Tl

2. TH Y d UIaR & fhrarR gl
3. fa=9% d Urak & dhvaR |
4. SRIDT o Fezor Aedl a1

Question Number : 87 Question Id : 342123859 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

- 3fdTE 711 7 &l Wl JR” 3R &1 U
LS. Hehs

2. MEaRHEA |
3. el g AY® A
4. M faari 4

Question Number : 87 Question Id : 342123859 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

- 31T 111 ¥ &1 WISl AR 311 &1 U
LS. eS|

o RMEaRHEA |
3. bR g ayH A
4. I fdari 4

Question Number : 88 Question Id : 342123860 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



3P ST &1 ATTAGYT &I SR 9 3(dIE glU al:
1. fedt A
2. 3RS YA
3. T AT
4. GSiTelt AT

Question Number : 88 Question Id : 342123860 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

2 Si-ieRe & ATTHSHYT &1 SIRI o 3fdTe glu &l
1. fedt A
2. STt ywt
3. ST YAl
4. GSTTel! Al

Question Number : 89 Question Id : 342123861 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

g WA ¢ IRAL i 3R I AICH & HdIG giu &l U:
1. “BY & I B Jis Bl

dfeIer T s B

3. “GIORmEr qis &d

4. HESArAls oA

B

Question Number : 89 Question Id : 342123861 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



g @R G X, DI 3R gy e &l 3Hde gl &l U;
oY T I B is B3l

dfer T ls B

3. “GIURMEr qis A

4, AHAESArAls T

—

f-2

Question Number : 90 Question Id : 342123862 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

4g3g-1d Uik U

1. AR UG G

[

A 3TN G
3. TIRT IUAY &

4. ARt gadfear a1

Question Number : 90 Question Id : 342123862 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ja¥g-Id UreR U:

1. AR UG Gl

B

T YA G
3. TRT IUAY &

4. AR gadier a1

Question Number : 91 Question Id : 342123863 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



%mgiﬁcr?ﬂ UG, ATHRI0D Y EUIMH, e U UM ¢ 39 HH ¢ Bld 3¢ U al
hHU:

A
B. SFTd
C.X
D.T
370 91 %53 oldrd 315l fadhed Tt Tl

1.B,C,A.D

2C.B.DA
3.3)A,C,B,D

4. D;B:A, €

Question Number : 91 Question Id : 342123863 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HQ%EH%FWQ , &, IR0 Udd SUIH, o U SUUH & 38 $5H & Wl 34 U al
DhHU:

AT
B. ST

C.e%
D.U

273 91 s odMd 3Higd faded 1 gl

1.B,C,A,D
2 CB.DA
3.A,C,B,D

4.D,B,A,C

Question Number : 92 Question Id : 342123864 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



SR fSRRMY U4, 3, 2T 5 ¢ 3 A ¢ WIH 3¢ J Yohald UidfRed &l Y=01 g1 s HH U:

A. 11653
B. 21053
C. 15594
D. 12454

¢ 91 %53 Sldid 3M1gel fadhed 1t gHl:
1.B,C,A.D
2.C,B,D,A
3.C,D,A.B

4.D,B. A, C

Question Number : 92 Question Id : 342123864 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SR fSq R -4, 3. 2 I s S ST PH C IME o°¢ d Ybad UldfRed I TS &1 s HH U:
A 11653
B. 210353
C. 15594
D. 12454
3G 91 &3 oa1d 3Tgd faded 11 THI:
l.B.C.A.D
2.C.B. DA
3.CCDAB
4. D.B. A C

Question Number : 93 Question Id : 342123865 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



3T g1, TXal BT, 2Xal gl 3, Tl fhar U ¢ 30 1 ¢ Wi &d TR d 3 gid §¢ &R
HARGRE R

A. gt RR1 4 Fgarde gt ydabrd
B. UYH IR 3 do- d YU = DId

C. HegH R hdd- d 3R
D. B U Schda- o Yfery 312

30 1 Ws o4 3gd faded 1 FH:
1.B, C, A, D
2.C,B,D, A
3.3J)ALC.B.D

4.A,D,B,C

Question Number : 93 Question Id : 342123865 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Y31 BT, TR BT, TXaT 813, TXail fohal =0 € 39 i ¢ Wd $d IR d o/ 9Hd 3¢ &R
aﬂ%‘éﬁﬁqﬁf

A. gsH g1 d FAgarde gl Yyaard
B. UYH R 3 9o d YU ddIH dId]

C. 7 YR 3hd - o 1Y
D. T [RY Ihda- d Yl o

¢ 91 &3 odid 3Higd faded 11 gHl:
1.B,C,A,D
2.C,B,D,A
3.A,C,B,D

4.A,D,B,C

Question Number : 94 Question Id : 342123866 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



3a® 9R1 41 Ied, HidHHTd, faaal d Faaal, TRl 39 &1 AU § HH ¢ BIe 36 aTdR
Gl %S HH T

A. ST ST AT

B. Ga WA
c. favrg T
D. R €y

30 1 Ws o4 3gd faded 1 FH:
1.D,B,A.C
2.C,B,D, A
3.3J)ALC.B.D

4.B,D,A,C

Question Number : 94 Question Id : 342123866 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Sa® 911 4l e, HidHTE, Tl d Faaal, TRl 39 S AU ¢ HH & BIe 3G TaIdR
aﬂ%‘é?ﬁqﬁf

A. 5] drdd 2!
B. Ay WofAl
c. faora zmi
D. FRIavm €y

¢ 91 &3 odid 3Higd faded 11 gHl:

1.D,B,A,C
2CB.DA
3.A,C,B,D

4.B,D,A,C

Question Number : 95 Question Id : 342123867 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Fdls, B, ToId d WS dhid diddl ¢ 94 U ¢ Tld 9l WA g1 s HH U

A. 3R dfdgH
B. dd &l a1
c. 3faaai
D. g
3¢ 91 %gs olamd 3M1gd faded 1 71
1.C,B,D A
2.D.C.B.A
3D.B. A C

4.B,C,A,D

Question Number : 95 Question Id : 342123867 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Edls, gIsd, TNid d Wsdhied diddl ¢ 24 U ¢ Wld 2 [ 1 s $H U:

A, IR didgH
B. dd &l 941
c. Ifadqat
D. gl
3¢ 91 s 9Ia1 3Mgd [9ded 11 A1
1.C. B, DA
2.D,.C.B. A
3D.B.AC

4.B,C,A,D

Question Number : 96 Question Id : 342123868 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



gal a¥ <] G, 9adic dad d IR, AR 2URE d did [y SUR YR 9 S HH ¢
Tl 2] aglid &1 s ®d U

A. B G ™R
B.dlsd

C. Slcwil

D. $SH & drgHl

2% 91 s 9Id1d 3Mgd [aded 11 A1

1.B,A.C.D

2C.B.DA
3.3)A,C,B,D

4. D;B:A, €

Question Number : 96 Question Id : 342123868 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

a1 371 &1 U, Fadic 9aH o ARG, AR 2RE J did YR SR YR ARl S HH ¢

A. TG ®R
B.di3d

C. Sl

D. $H & dIedl

¢ 91 &3 odid 3Higd faded 11 gHl:
1.B,A,C,D
2.C,B,D,A
3.A,C,B,D

4.D,B,A,C

Question Number : 97 Question Id : 342123869 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



?%u%ﬁmﬁamﬁﬁg@wﬂm.mummﬁmaﬁﬁﬁwé%ﬁ?émﬁw
$HU:

A. clcddq
B. T YR &1 577 &7 3Ra v
C. dEal

D. BRI

30 1 Ws o4 3gd faded 1 FH:
1.B, C.A. D
2.C,B,D, A

3.3)A,C,B,D

4.B,D,C. A

Question Number : 97 Question Id : 342123869 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

H@gﬂﬂﬁﬂ%&ﬁﬂg@wﬂaﬁ.aﬂwﬂaﬁﬁa{miamar&%aaaw%i%ﬁﬁmﬁa
hHU:

A, ddelq
B. A UR €l 51 &1 3Ra fhl
C. RG3!

D, BRIT R

¢ 91 &3 odid 3Higd faded 11 gHl:

1.B,.C.A,D
2CB.DA
3.A,C,B,D

4.B,D,C.A

Question Number : 98 Question Id : 342123870 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TRIS X1 2T g6 Siidd, YU Bed-r=iledr, dic TeRl, d QAUs-ddls 41 7S 9 gRiYfad
&l 3gHEYdr a3 € Td 26 Uy el s hH U

A, TareHl
B. Udfdd
C. Al

D. BIRIT TR
30 1 Ws o4 3gd faded 1 FH:
1.D.B.C.A
2.C,B,D, A
3.3J)ALC.B.D

4.D.C,A. B

Question Number : 98 Question Id : 342123870 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TRI X1 2T g6 Siiad, HYYTTT Hedr=iiedr, drd JoRl, o 2AUs-Tadls o 1S 9 gRRYTd
1 3YgHSydr a3 € T 3¢ U & ©s hH U

A GareH]
B. Ui+
C. daHT

D. R W

¢ 91 &3 odid 3Higd faded 11 gHl:

1.D,B.C, A

2CB.DA

3.A,C,B,D

4.D.C.,A. B

Question Number : 99 Question Id : 342123871 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



318 3 YUR, I B YeMI, S 3! Tam Ud dd [62 @e., o g Hdd S s aa g
Wld 3¢ U ol §s Ha T

A. f[dRuTdES
B. [SaRIHA®

C. HIATda®
D. SUHTES

30 1 Ws o4 3gd faded 1 FH:
1.D,A,B,C
2.C,B,D, A
3.3J)ALC.B.D

4. D;B:A, €

Question Number : 99 Question Id : 342123871 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3118 3 YU, 3 GH Y1, ST oS! Ta Ud dd [h2rae. fox s Hdd 2 39 aa g
Wl 2 e &l s HA U;

I CELUIREE
B. [ddRTHAS

C. YaTHS
D. SUHTHS

¢ 91 &3 odid 3Higd faded 11 gHl:

1.D.A B.C
2CB.DA
3.A,C,B,D

4.D,B,A,C

Question Number : 100 Question Id : 342123872 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



AT Dcll, I e, YRT el o =419 el Aferd € 39 HH G T 3¢ ey a Iog HA U
A. g1 Y1 Ygarg

B. Bl IHR I
C. Sl ¢ 3 Ie=
D. TSI IR
3¢ 91 s o1 2Mgd faded 11 .

1.B,C,A,D
2. C.D. B &
3.3]A,C,B,D

4.D,B. A, C

Question Number : 100 Question Id : 342123872 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

U e, T el YRT el o a1 el Aferd ¢ 39 HH ¢ Wid 3¢ A6 g1 s HH U:
A. i Yff Ygarg

B. THI YR AT
C.olld1 ¢ A I
D. B SHHYH IHAR

3¢ 91 Ws a1 3Mgd [9ded 11 A1

1.B,.C,A.D

2. C.D. B &
3:.4,C,B;D

4.D,B. A, C

Question Number : 101 Question Id : 342123873 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Fefed el Bied, Aerati wisR & Siiad Yo/, UHTid T3 ohad ¢ ARH d diord
IR Y TR i R 9 2+ fa%1 < 39 60 ¢ T 26 A1cd ol B HH U

A. TOSRT

B. GliGgi b
C. @I dglal
D. SiH &l &g

30 1 Ws o4 3gd faded 1 FH:
1.B, C, A, D
2.C,B,D, A
3.3J)ALC.B.D

4.B,D,A,C

Question Number : 101 Question Id : 342123873 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Fcfed rrsll Bfed, Aeratf aRio fod Sifaw Yreamy, Uepmid Sy oad < QR d S
FIRT A TR A IR Sed 2 a3 € 39 o4 € LT 37 Aledh &l Ts H4 T

A TOSRT

B. Gifedl &l
.\l dgl al
D. SiH &l &g

¢ 91 &3 odid 3Higd faded 11 gHl:

1.B,.C.A,D
2CB.DA
3.A,C,B,D

4.B,D,A,C

Question Number : 102 Question Id : 342123874 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



fAracd fig A8, 3T R, TR U= o o T STeldd & 3H HH ¢ Bl 56
el o &l e Y U:

A. SRI 79l 9 Yigddrg

B. SR Alc® Hifgd 9 Yigddlg
C. BRI U0 9 Yigddrg

D. SRI g8 9 Gicddig

30 1 Ws o4 3gd faded 1 FH:
LB, C. DA
2.C,B,D, A
3.3J)ALC.B.D

4. D;B:A, €

Question Number : 102 Question Id : 342123874 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fRracq e T5r, <1 e, T USIHAT o diol W STddd ¢ 38 B4 ¢ %E 86
TS o &l Tog 4 U:

A. SITRI TT9id 9 Higddlg

B. SI'RI Aled Hifigd d Higddrg
C. SPRI 39919 9 Higddg

D. SFRI g8l 9 gicddg

¢ 91 &3 odid 3Higd faded 11 gHl:

1.B.C.D. A
2CB.DA
3.A,C,B,D

4.D,B,A,C

Question Number : 103 Question Id : 342123875 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



sﬁmg?ﬁwﬂaumz, YAT 3, YT 4 d YT 5 G SH A ¢ B 3¢ 9 UHRId fa2f ¢ faf a1 &wgs
hHU:

A. Taifid
B. YR i
C. Td-sgR GREH Tid
D. dIHMYT (GRBI, dR)
2% 91 s 9Id1d 3Mgd [aded 11 A1
1. B €A, D
2.C.B, DA
3D AB.C

4. D;B:A, €

Question Number : 103 Question Id : 342123875 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

sﬁmgénwﬂﬂwz, YAT 3, YT 4 YT 5 G 54U HH ¢ e 3¢ 9 UK 92 ¢ fazi a1 &@gs
hHU:

B. G&hR 1d
C. Txl-sgR IReef g
D. BT (PRI, 9R1)

¢ 91 &3 odid 3Higd faded 11 gHl:
1.B,C,A,D
2.C,B,D,A
3.D.A,B.C

4.D,B,A,C

Question Number : 104 Question Id : 342123876 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



JIAG HiTdglal &1 HagTell, Hgdlel, SPRI-ETel d BiTs! d 8T & 3Hdle ¢ UhIRH HH ¢ WEld
3¢ UHIH aX &l s HH U

A. 1973
B. 1976
C. 1943
D. 1971

¢ 91 &3 odid 3Higd faded 11 gl
1.D,C.A.B
2.C,B,D,A
3.A,C,B,D

4.D,B,A,C

Question Number : 104 Question Id : 342123876 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

IAG WiTaglal & Hadrell, Hgdlel, SPRI-ETS! d BiTs! d 8T & 3HdlG ¢ UbIRH $HH ¢ 'ld
3¢ UHIIH 9 a1 s hH U

A. 1973
B. 1976
C. 1943
B 19T

273 91 s odMd 3Higd faded 1 gl
1.D,C.A.B
2.C,B,D,A
3.A,C,B,D

4.D,B,A,C

Question Number : 105 Question Id : 342123877 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



IR Y, § DITR, SgR g4 d il 1 721 3 Srjfad TN € 38 & < Tid §dl Aifgd

A, JUA
B. Alcdh
C. dhldg

D. T
30 1 Ws o4 3gd faded 1 FH:
1.B, C, A, D
2.C,B.D, A
3.C, DA B

4. D;B:A, €

Question Number : 105 Question Id : 342123877 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3R T, T I, S8R 29 o el < 1t 3+ 3Ffad Te & 59 o ¢ | 331 Ui

A 344
B. dlcd
C. hleg

D. dEH!

¢ 91 &3 odid 3Higd faded 11 gHl:

1.B,.C.A,D
2CB.DA
3.C,D.A.B

4.D,B,A,C

Question Number : 106 Question Id : 342123878 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A. T BTd diqd TIPpd & dle IH Bls AT
B. 9 Ugcil 3fa®1 Uil Wihd &1 Ul

C. I AR G IRAI €U AYEN g dH U]
D. &l Als a1 YRYH! UIdhd 73l el U]

37 91 g3 oa1d 3MTgd faded 1 A1
1. R BdcdHI
2.A,BdC3IFH I
3. G Adc Al
4.B.C.,dDAIH

Question Number : 106 Question Id : 342123878 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

BIERNIRIIG
A. G DId diGe Hhd ¢ a9l I IS 1311 311
B. I Ugell SIaRT UIfe Wi & T

. = ANTE & RN EY Yy T THaT U
D. &1 3ls AR QR Ul Hail Sig] T

0 91 W3 Sd1d g feided 1M FH:
1. R Bdcdld Al
2. A.BdC3lH I
3. Adc el
4.B,C,dDJIH I

Question Number : 107 Question Id : 342123879 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



EWW

A. 9 HRG d U & HH gig |

B. GRg DH ¢l YIfd fobar el A3 gidl|

C. Mor s H 11 b1 §1 bl WdRd -5 wlall
D. g $H o fRufd fohan ¢ sifd =g gidi Ul

3¢ 91 %os olaHd 3M1gd faded 1 -
. Rk Bdc diel
2.A,BdC3IFH I
3. 7% Adcdla Al
4.AC.dDIH I

Question Number : 107 Question Id : 342123879 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ww

A. g d MU & 4 Big |

B. Gd DH &I HIid fobar el 93 gidl |

C. MU 1 fobdl &1 el IRdad -5 Giall
D. Jad & &1 Tfd foran ¢ afd 39 gid U

$°¢ T %S Sid1e 3Mgd foiped I -
1. R Bdc diHI
2.A,BdC 3Pl
3.78% Adcdla Al
4. AC,dD 3B I

Question Number : 108 Question Id : 342123880 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



T UHT €6 33 T i Sist

A. THIY ®Ieg U
B. G HUHD 38 13 oisd Y I U
C. a1 Y= 931 THTaRITell U
D. Gl HYH® dH-aH We d §8lu gl U]

3¢ 91 Xgs oldid 3M1gd faded 1 Al
1.B,C d D3I Al
2.A,BdCAHAI

3. %G Ad c AP I

4. T% c dp 3id I

Question Number : 108 Question Id : 342123880 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Teb T UHT g 3 Td -fiwi Set

A THI H1eg U]
B. & HYHS 36T -1 oisd Ys A U
C. a1 YT g1 WHIGRITeH U
D. Gl $YHD aH-dH Ws d deu aru|
3¢ 91 %S o1d1d 31 faded 11 I
1. B, C dDald Tl
2 A BAdC3FHAI

3. 9% Ad c dld A1

4. 185 ¢ d D Bl 1

Question Number : 109 Question Id : 342123881 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A. G 3] I & YIH0 34U |
B. 9 didh-6d d &d-de TR YR aei=4gi 7|
C. G IR YR U A|

D. d {62 ag1at ey T feai 7|
2% 91 %os olamd 3M1gd faded 1 -

1. R BdC diFI

2.A,BUC 3P

3./%h Ad cEH Al

4.B.CADAHE A

Question Number : 109 Question Id : 342123881 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A. T 3] db & GEHI0 35U 7|

B. d did-&d d &d-dal IR YR agii=gi |
C. G IR YU U A|

D. 9 =1 FIHa 3y g fegi =1
$°¢ T %S Sid1e 3Mgd foiped I -

1. R BdC da Al

2. A.BdC3lH I

3. Adc el

4.B.CcdD3I& Al

Question Number : 110 Question Id : 342123882 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



3 I YdTel 3U=ar:
A, HRd &l Mgl af fSar U
B. ¢ ¢a® 9o fddd iR A1

. gYrdardl UM U]
D. 9 ATgR-U- el fredt a1 SR U

3¢ 91 %os olaHd 3M1gd faded 1 -
1. R cdp dld I
2.A,BdC3IFH I
3. G Adc Al
4.B.CdDJIH I

Question Number : 110 Question Id : 342123882 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Jall T HdTel TN

A. d HRd &I 3fTg] af fS/a U
B. < ¢G® 9 [Add gk A1

C. GYIardl 3Ty U]

D. 9 ATgR-U- el el a1 forae U

3¢ 91 %S o1d1d 31 faded 11 I
1. T9% cdp &l A

2. A BdCBIFAI
3. 1% Ad cdlF Al
4.B.CcdD3I& Al

Question Number : 111 Question Id : 342123883 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A 3P UATEY U

B. I UIfgcd® BRI &l 90 U

C. 79U ¢ Sfdergd UgdU 7 IR Sidr el |
D. d3® d31 gHedl & fShR U

3¢ 91 %os olaHd 3M1gd faded 1 -
1. R Adcdie Al
2.A,BUC 3P
3. % AdD B I

4.B.CAD3HE A

Question Number : 111 Question Id : 342123883 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A. 3H IEAT G U

B. I Hifgdd HshH < 90 U

C. U ¢ Sfdergd UgdU 7 IR Sidi a1 |
D. d 2 931 gHeAI ol [ U

$°¢ T %S Sid1e 3Mgd foiped I -
1. R Ad cdid I
2.A,BdC 3Pl
3. % AdD S I
4.B,CdD B I

Question Number : 112 Question Id : 342123884 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



STRI Aledh YERM S5l -

A. 3 g Aledh U]

B. 3¢ ¥ UIRGR R Agdr |

C. d WG IR URR =7 & UI= 931 G et d AeiAr Ul
D. 9 7R f&Z Urgl a1 b el SuiH-faAu U

2% 91 %os olamd 3M1gd faded 1 -
1. R Ad D dlH I
2. A, CdDAIH ]
3.B,CdDIF I
4 R Bdcdl®l

Question Number : 112 Question Id : 342123884 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SITRI Al YERM sSEeX :

A. S0 Hd AleH U]

B. 34¢ T UIRDR 29 g1

C. 9 U AR1 URR 981 &1 UI=1 991 3wl o JeiA U
D. 9 R &3 UTg¥ &l §hal quiH-FE0 U

$°¢ T %S Sid1e 3Mgd foiped I -
1. fh Ad D dH
2. A, CdD3IF |
3.B,CdD AP I
4 b BdCcdidAI

Question Number : 113 Question Id : 342123885 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



IR YD

A. DY 3 Al & fddd 11 T4 |

B. d&b il I féc A1

C. Ad B8R amudi 4|

D. fdgH 9 srigafaai Afaai =
3¢ 91 Xgs oldid 3M1gd faded 1 Al

. R BdC 3FAI

2. A.BAC3FAI

3. 7% Ad c3lF A1

4.B.CADAHE A

Question Number : 113 Question Id : 342123885 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

IR YDA
A. T I Hidd ¢ faded 71 7¢ 7|
B. db il Tgdr fdg A1
C. Hd gR amyf A1
D. fagH 9 s¥gafagi Afagt ||
3¢ 91 %S o1d1d 31 faded 11 I
1. TgbBBdC Al
2. A BdCBIFAI
3. 1% Ad cdlF Al

4.B.CcdD3I& Al

Question Number : 114 Question Id : 342123886 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



SR ¢l did A

A. G WREY AR TR Ud-dgR We 3F3H &34 U

B. 11 \ige ¥ A digi o U3 &dl b T o WSR3

C. S UG U 9§13, Ags, il (A, ©erg f=u e siie |

D. &1 31D T I [H= YTa THAT YT GIATdSi b 0] DIdT ol Hal U
276 91 &3 o419 3figd faded 11 4l

L. B BT CcAFHAI

2. A,BAdD 3D I

3. B AT CAFAI

4.B.CAD3HE A

Question Number : 114 Question Id : 342123886 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks :

SR ¢l did fAddl:

A. B &Y SHHIRT TR Td-dgR Gat 328 &4 U

B. 11 A a¥ = digi o I &dl b I Fef WSR3

C. S U U 9§13, UGS, Toll (HIVL, BTy = #fe 3iie |

D. &1 TS T F [H= YIS 3311 FHET GIATASIDRU DIl Sl HRal U
3¢ 91 s a9 3figd faded 1 AT

1. % B dcdlem Al

2. A,BdDdld |

3. % Ad cdle Al

4.B.CcdD3I& Al

Question Number : 115 Question Id : 342123887 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



DI & Al 7 I Hidl U

A. T d AYaled ¢ draHd ol
B. ¥¢ d|
C. S El|
D. §dIé ¢ 3farg <}
3¢ 91 s o1 2Mgd faded 11 .
I.A,Bd C A&l
> B Bd AP I
3. %G Ad c AP I

4.B.CAD3HE A

Question Number : 115 Question Id : 342123887 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

BT ¢ 3fdIe J GHHT 3Hid] :
A. T T Al ¢ IraHd g
B. ®¢ ¢
C. Al
D. YdTg ¢ 3dTg <l
3¢ 91 %S oId1d 3M1gd faded 11 THI:
LA, Bdc3l&AI
> B Bdcdld Al
3. 1% Ad c dld A1

4.B.CcdD3I& Al

Question Number : 116 Question Id : 342123888 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



HIRMARM S SUHTHS AR F 3[40 Hidl Sial U:

A. IR & R PI=Ifaqi =4 &7l

B. BIAiHhH ¢ Wl g9 g &4 &l

C. 3 DId [dRYA ¢ 3 Rl 3gad FU &l
D. TRATES (¢3¢ Hdl YIRS ¥4 &

3¢ 91 g3 ola1d 3MTgd faded 1 A1
1. R cdp dld I
2. A, CAD BB
3.B.CAD 3P I
4. R Bd cdB I

Question Number : 116 Question Id : 342123888 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

IR & SUiHTHS RT3 Hidl sigl U

A. YIRN & Rh Sifas =4 &1l

B. BIAiHhH ¢ Wid g4 3ATgdd &4 &l

C. 3P DI (IR ¢ 3R SRl 318 T4 &l
D. WRATHD (G2 el YIRS T4 &l |

3¢ 91 %S o1d1d 31 faded 11 I
1. % cdp 3l Al

2. A CAdDAIEHAI
3.B.CdDaIF Al
4. B Bd A& Al

Question Number : 117 Question Id : 342123889 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



SR {92 9 = urgH glar U

A. ToT, §9, d PR® 3|
B. BR$ FULH ¢ dgd gfdT fe=eH ¢ e, fade d deiy-l U g4 A1

C. WIfeiT fa=e o [dd e dR® 9 dgda 3Rd & SUE= gial U]

D. [eRITHE € TdrH! U 9 RE TUH g IR 981 U U
3¢ 91 %os olaHd 3M1gd faded 1 -

1. 7% ¢ 9D b I

2.A, CADBIH I

3.A.BAdC3IH I

4. f%b B d C dl® Al

Question Number : 117 Question Id : 342123889 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SR fa=Ie 9 =urgH glar U.

A, [T, 591, d SRS AR |

B. HR® U € dgd Ufe [ ¢ 9Rd, fdded d Galy-l &9 3¢ |
C. Wil [9==H = fqdd SR d dgad- 3 1 =g glar U
D. faRITH € TaH U 9 SR® TUHH & WIRT 91 U U

3¢ 91 %S o1d1d 31 faded 11 I
1. T9% cdp &l A

2. A CAdDAIEHAI
3.A.BdCalF Al
4. B Bd A& Al

Question Number : 118 Question Id : 342123890 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



3R &1 IR A e = ford TR, 39 1R fdbo-ai Yfeetd ot 71 eR Bl |

A. ST G MR 7 M o1 |
B. YSY -ddRggl” &id 9 Yhdd Ul

C. QST & U I &1 gt 7 TR H3A1 U
D. ST &T 19 3R & H HIAT U]

37 91 g3 oa1d 3MTgd faded 1 A1
1. R Ad D Al I
2. A,BADAIH ]
3.B,CdD3IF I
4 R BdCcd®

Question Number : 118 Question Id : 342123890 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3R &1 TR ARgd e A Forg 7RI, 39 UTeR fobo-af Yfeerd ol 7 R Dis |

A. /IST G TR 9 9 &1e XHi |
B. YUY “dRIG* TP 9 Hhad U]

C. RISY &1 Y19 W &1 gl 7 TSR 61 U
D. QST & HIF 3fcR &l HeX HIT U

3¢ 91 %S oId1d 3M1gd faded 11 THI:
1. % AdD BH A

2. A BdD A& A
3.B.CdDBIF Al
4. B Bd A& Al

Question Number : 119 Question Id : 342123891 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



SITRI FgHI-SNTd d 1319 Hgdl feat agi=ar:

A. I 3MTgell Xell o faagi 7ifegi 7|

B. ddidl 2reil 9 faRaai fifear A1

C. ATed! e 9 faRagt gt 7|

D. TS € Siiad $d 9 ¢ Ugau 1 gurd d gad fg=d o dexfedi A
3¢ 91 s o1 2Mgd faded 11 .

. R BdcdFAIl

2. B.CdD3FAI

3.A.CdD 3B Al

4. T8% c dp 3id 1

Question Number : 119 Question Id : 342123891 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SITRI ggHI-SiTd d 19 Hgdl feat agif=ar:

A. I 31gel Wadl F fefagi fifgat 71

B. ddid Tieit 9 faRaa et A1

C. AP e 9 faRagi iyt |

D. GHTSI G Siia- & 9 ¢ Ugad 1 gy o gad 3 & dexfeat ||
3¢ 91 s ola1d 3figd faded 1 AT

| % B dcdiE Al

2.B.CdD3&E I

3.A.CAdDAIF Al

4. 185 ¢ d D Bl 1

Question Number : 120 Question Id : 342123892 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



SaXaid PR g6 ITN:

A. THIS [0 € RITA SR SFRT Y & YGHdT e doiHH] HRg |
B. Silad & g2 Ugc 11l faaMe fa=dl & Sae-uvydg ||

C. SITRT HIRI & WY &3 ec; & Y 1] duilg fda Al

D. Si1d ¢ GG d&l &1 ¢ 6™ 9 3M1g-g A

3¢ 91 %os olaHd 3M1gd faded 1 -
1. b Adc b
2.A,BdC3IFH I
3.A,CAD3IF I
4. b BdCdHAI

Question Number : 120 Question Id : 342123892 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Selld PR g¢ IUTY:

A. THISS FH01 € eRTA SR SIRT GHIS & JRIAT ddl dorHH dg |
B. SiieH & g* Ugq 11t faqmie <t o3 Si=e-1Rag Al

C. SITRI YR € WY &3 Xed < WAl 1 duifg fde Al

D. Sila & RIS def &1 g W IIH- 3gg |

$°¢ T %S Sid1e 3Mgd foiped I -
1. R Ad cdid I
2.A,BdC 3Pl
3.A,CdD3IP I
4 b BdCcdidAI

Question Number : 121 Question Id : 342123893 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



STRIE ¢ 96 T d&Hl AR

A. TR 0 o= el I ATp A YiHDT THTE |

B. 3'% gRY-AT A (dY I I dl d Ul Didl IR faaR-dcd 1l AR B e |
C. BIR ST e 1 = g d T 1 7 Ul 0 7 ST IeRd 3|
D. BN [HdY T ¢ 3T R F 3T -9 D 9ad & AdED Acil &l S&IHTe Didll

37 91 g3 oa1d 3MTgd faded 1 A1
1.’ cdp 3|
2.B.CAD AP I
3. A, BdC 3l Al

4.A.CdDBFAI

Question Number : 121 Question Id : 342123893 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks :

SITRI T ¢ f9dN = d&H TR

A. BIR ST feeiare] Qe I8 ATd RdSl YiHdh] TS |

B. 3¢ SR A e I I=dhdl d Uel idl IR [9aR-dd 1 $HSR B feT |

C. BR AT el Ia1 = G o o € 711 Hgerd 0 F 1% Y e |

D. BR & 1 ¢ Y3 SR I 301 Y- Dol 9o & Hdlad 2l &l &I bidl|

0 d1 W Sd1d g feided 11 FH1:
1. cdp dlH I
2.B,CdD3IH I
3.A.Bdc b Al

4.A.CAdD3IH I

Question Number : 122 Question Id : 342123894 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



AR U B -

A. VDAY §1-HH -1 G L3 GR o STRT o W 7 991 9 fexn|

B. 3T AICH ¢l T RIS s 111 3d-dbledi-d U U Didl|

C. T GGIH R &t HIeHT Hol IR Bigd babs 111 3 fagagul o Yra AR1 a1 &Y
il

D. WU Al &1 o1 &dl 917l Sg didh ¢ Aga-ald ¢ diadre T Gavd Sidi|

30 1 Ws o4 3gd faded 1 FH:
LA, CAD 3B
2. % Ad c EH I
3.A.BADAIH ]
4. b Ddcdld I

Question Number : 122 Question Id : 342123894 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

GIHTS Uei B

A. AU F1-HH Aeh-I9-1 I8 YOI GR 9 SHRI 9 THd 11 951 9 fedi|

B. 3T AICSH ¢l T RIE s 111 3d-dbledi-d U U Didl|

C. T GIGIHRT <t HIaHT Hal IR Bigd babs 111 3 fagagul o Ya AR1 a1 &Y
fe

D. WU H1¢dh I T-1 el difll $-g dld ¢ Ags-ald ¢ dicdle 1l GEd Sidl|

$'q 91 %gs od1d g faded 71 T
I.A,CdD B ]

b adc il

A, BAD 3B I

4. B Dd bl

B

LS

Question Number : 123 Question Id : 342123895 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



SITRI UIfed (i< ¢ [Wd? g Ramy:

A. BRI ¢ 3AgrI e & 3iclraH1 ¢ WL 1M Iad S4/|
B. BR U &1 (el R $is AOYY HH -3 Sidll

C. §¢ AP S o YAITara] feedTdh 7 3u-r 71e] U
D. E&I TS faxdidIv de d Iargul SR YR Ul

3¢ 91 s o1 2Mgd faded 11 .
I.A.CdD3IH I
2. A.BAD3IH A

3. %G Ad c AP I

4. T%b AdD P A1

Question Number : 123 Question Id : 342123895 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SR Ulfedd 3T ¢ ¥ 9 e

A. BRI ¢ A8 IS & SfclraHT & WL 1M gad S4rT|
B. BN Ylig I 3l IR Bls TG99y HH T3 DIl

C. §& S-S S o YANTdre] feeeid 07 U= e U
D. §&l eI a2 0 dd d I&T8R0 SR 3R U

3¢ 91 %S oId1d 3M1gd faded 11 THI:
I.A.CdD 3 Al

2. A BdD A& A
3. 1% Ad cdlF Al
4. T8 Ad D 3l 1

Question Number : 124 Question Id : 342123896 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A. SHH0T G 16T Sl d1p] 168 UMY 58 A Ty S el 5 o |

B. ‘®R&" d “dR° &3 AU & Idd A |

C. gled] d g¥9-WR ¢ UaH IuR 2YRd didyi gday 97 9 Idadi sifeai |
D. YITJ-Ed d STa-afera o9 Waed byl -aR- qis &d Sii-ai sfeai 7|

24 91 W5 oa1d 3MTgd faded 1 AT
|.B.CdD3IP Al
2. A.CADBEAI

3. G Bd AP A

4. b Bd DAFAI

Question Number : 124 Question Id : 342123896 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks :

A. TIH0 S =] o I1a] fad W= {8 A ATy =1 9aidi =5 o |

B. ‘®R&" d ‘GR" &S AU &Hd gdd A |

C. gIed] d ev0-WR & HaH IuR 3eRd didyi gaay 97 9 Idadi sifedi 7|
D. WTCl-EJfd o aH-gfere & GRaed db Yl -aR Ais Ha S1i-4i Sifedi |

3¢ 91 %S oId1d 3M1gd faded 11 THI:
|.B.CdD3IF Al

2. A. CADBIH Al

3. (B B dcdld Al
4. B Bd DAFHAI

Question Number : 125 Question Id : 342123897 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



SITRI HIfed o SdTe-o1d o fay=my Weffar:
A. 4o 3fdGd 9 IADITE Gl YIgR TG |

B. Eﬁmﬁm&ﬂﬁﬁﬂ%&aﬂﬁm YR o 3T &1 Gde €13 IRd I d-HATd YHdT
UG T |

C. §¢ SHRISM S 311 ¢ 3dTe o Tcl Td-1 & drdrdRol 1 71 yggdl fe<it 1l U
D. Hell 3{fdel & Ais-HR0T d qacicll & &l HRUI Ffdagdd s aiel|

30 1 Ws o4 3gd faded 1 FH:
1. %G Adc B
2. % Ad B EH I
3.B.CdD3IP Al
4. A.BdC 3P|

Question Number : 125 Question Id : 342123897 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SITRI GIfed o SdTe-1d o fay-my Weffar:
A. 4od 3fdGd 9 IADITE Gl YIgR TG |
B. §a MU BIA TIG SFaTq SFRT HIRIT T TGH{ &7 HeH a1 3G d SI-FHAT YA
& ;ﬁlﬂgﬂyaﬁﬁlﬁ 3Gl ¢ 3fa1G 9 Yol -1 & ardraRol 1 7 gargdr fédi 7idl U
D. Tl e & Ais- B0 d ddaicll d- ol HRUI Gfdagdd 3 ailall
Q91 %53 SId1d 3M1gel faded 1 -
1. R Ad cdD I
2. Fth Ad B EH I
3.B,CUD3IH I

4. A.BAdC3FAI

Question Number : 126 Question Id : 342123898 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



gl <4l 9 fo=il 7ifed ufafRed <1 g =<l @ fowil fad ufafRed od ws fAam &1

T 11
I |TU=El. 31 T, Hidbeit @i
1. |fusdl ma, 9t |l
v |, e, wuef aH

276 91 &5 old1d 3igd faded 11 Al

1. A-1, B-III, C- IV, D-II

EIEIEIE
ah

ola|w|r

]

. A-II, B-IIL, C-IV, D- 1
3. A-1I1, B- 11, C-1, D-IV

4. A-1IV,B- 1, C-II, D- III

Question Number : 126 Question Id : 342123898 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ugdl ddl 9 fa<dt ey ufafeed <1 g5 d<l 9 fodl fad ufafed o4 ws mdH 1|
ST I
1. | TSl o Tiier, Hidbeit @i

11 |foes, ma, et |l
v, |, e, waef ae

3¢ 91 WS A9 3f1gd faded 1 AT

1. A-1, B-III, C- 1V, D-II

ola|w|e
FIEIEIE
&

2

CA-IL B-TT C-IV, D-1
3. A-1I1, B- 11, C-1, D-IV

4. A-IV,B- 1, C-1I, D- III

Question Number : 127 Question Id : 342123899 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



gl <4l 9 fo=il 7ifed ufafRed <1 g =<l @ fowil fad ufafRed od ws fAam &1

ECiR TSI
A |Hals L [HARAghdd
B. | el IL |39 QX1 9ga
C. |wgH 11 | 9e9H R¥ dgdd
D |GGt V. | 9YH QR Shaad
3¢ 91 WS a9 3Mgd [aded 11 AL

1. A-TIV, B- 111, C-1II, D-1I
2.A-IL B-IIL, C- IV, D- 1
3. A-1I, B- 111, C-1, D-IV

4. A-IV,B- 1, C-1I, D-III

Question Number : 127 Question Id : 342123899 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gl d<l = fe<il iy ufafed a1 g8 ddl 9 faxdl fad ufafRed o4 W - ol |

Tl T T 11
A | HalH L | SR ghddd
B. |Hardl IL | 377 Y21 dgaa
c |w&H 11 | HegH RY dgdd
D. |ggm IV. | TYH R Shaa
3¢ 91 s old1d 3M1gd fdded 11 gHI:

1. A-1IV, B- III, C- II, D-1
2.AIILB-TIILC- TV, D- 1
3. A-1I, B- 11, C-1, D-IV

4. A-IV, B- 1, C-1I, D-III

Question Number : 128 Question Id : 342123900 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



gl <4l 9 fo=il 7ifed ufafRed <1 g =<l @ fowil fad ufafRed od ws fAam &1

ECAB| = 11
Rrarsfag 1 |fade sdhaad

Trerreifad 1. |fode agae
[ESICIGRI] 11 |Gl ghad
TRremsitad IV. [ TR ggadd

276 91 &5 old1d 3igd faded 11 Al

1. A-1, B-III, C-IV, D-II

ola|w|r

2. A-I1, B-III, C-1V, D-1
3. A-IIT, B-II, C-IV, D-1

4. A-IV, B-1, C-II, D-III

Question Number : 128 Question Id : 342123900 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gl d<l = fe<il iy ufafed a1 g8 ddl 9 faxdl fad ufafRed o4 W - ol |
EC1R TSl 11
IESIEIGE] 1 |fade sdhadd

TRrereifad 1. |fcde agasH
Rrarstaat 11 |Haled gdaad
fRremstad IV. [ TR ggadd

24 91 WS A9 3{1gd faded T AT

1. A-1, B-III, C-IV, D-II

ola|w|e

2. A-II, B-II, C-IV, D-1
3. A-IIT, B-I1, C-1V, D-1

4. A-IV, B-1, C-II, D-III

Question Number : 129 Question Id : 342123901 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TUgcil ddl 7 ot e ufafed 1 g3 dcl 9 faxil fad ufdfed od W fireH |
SCID EEil
DIl Gel ugai I |ZEeiid R

e ETdFR | I |aFafE
i feai el 1L | fidh SR
fopefeai frfeai emi | v |[FAdw faee

276 91 Ws SId19 3Mgd faded 11 AT

1. AL B-IIL C-I, D-IV

ola|w|r

]

. A-II, B-IV, C-II1, D-1

3. A-IIL, B-IL, C-1, D-IV

4

. A-IIT, B-IV, C-I1, D-1

Question Number : 129 Question Id : 342123901 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ogall ddl 9 ot e ufafed a1 g3 dal 9 faxil fad ufdfed o3 W dH |
w31 ECiR
EALEIRTARED I |Zeeiid R

s I | 1L |aafdE
i feait @i 1L | 3= SR
fopfear ferfemt wmi | v | e

3G 91 &S od1d 3fTgd faded 11 THI:

1. AJL BIIL C-L DIV

ola|w|e

2. A-IL B-IV, C-1IL, D-1
3. AL B-II, C-I, DIV

4. A-III, B-1V, C-I1, D-1I

Question Number : 130 Question Id : 342123902 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Ugcil ddl 7 foxdt MGy ufaied 1 g3 dcl 9 faxil fad ufdfed od s firedH |

Tl I T 11
A |9 L |dad
B. |3Rdl I |ZeraH
C. |He= zEf 1L |ug did
D. |gradl v |SHE
24 91 s od1d 3Mgd [dded 1 AL

1. A-II, B-1, C-IV, D-III
2. A-I1, B-IIT, C-1V, D-1
3. A-IIT, B-IL, C-I, D-IV

4. A-IV, B-1, C-II, D-III

Question Number : 130 Question Id : 342123902 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gl d<l = fe<il iy ufafed a1 g8 ddl 9 faxdl fad ufafRed o4 W - ol |

Tl 1 T 11
A |FEE 1 |dad
B. |3Rdl I |g9ri-aH
C |He=r =l I (g Al
D. |9rddl IV |SHH
3¢ 1 s old1d 318 fdded 11 gHI:

1. A-II, B-1, C-1IV, D-III
2. A-II, B-II, C-IV, D-1
3. A-IIT, B-11, C-1, D-IV

4. A-IV, B-1, C-II, D-III

Question Number : 131 Question Id : 342123903 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Ugcil ddl 7 foxdt MGy ufaied 1 g3 dcl 9 faxil fad ufdfed od s firedH |

T T
A |FfE asi I |B=UYH
B. 8¢ IL |57 gurd
c. |feiet 11 | FHIfaeHS faeeEH
D. |&HaER v | RyaErd
24 91 s od1d 3Mgd [dded 1 AL

1. A-1, B-III, C-IV, D-II
2. A-IIT, B-II, C-IV, D-1
3. A-II, B-IIT, C-1, D-IV

4. A-IV, B-111, C-11, D-1

Question Number : 131 Question Id : 342123903 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gl d<l = fe<il iy ufafed a1 g8 ddl 9 faxdl fad ufafRed o4 W - ol |

qe 1 T
A |FfEt ad I 8O aYH
B. |3W IL |57t gurd
c. |feie M B C I GRIECACEINEIE
D. |Fa®R v, | RyaErd
3¢ 1 s old1d 318 fdded 11 gHI:

1. A-1, B-III, C-IV, D-II
2. A-III, B-11, C-IV, D-1
3. A-II B-III, C-1, D-IV

4. A-IV, B-1I1, C-11, D-1I

Question Number : 132 Question Id : 342123904 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



gl <4l 9 fo=il 7ifed ufafRed <1 g =<l @ fowil fad ufafRed od ws fAam &1

Tl T ECARI
YER L |gxat

Hdddlg L. |Ercelt afal
AT Bl | L |§d
Saferdmdar IV. |71 SR 8Rd St
276 91 &5 old1d 3igd faded 11 Al

1. A1 B-II, CIIL, D-IV

ola|w|s

2. A-I1, B-III, C-1V, D-1
3. A-1I, B-1, C-1V, D-III

4. A-IV, B-1, C-II, D-III

Question Number : 132 Question Id : 342123904 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gl d<l = fe<il iy ufafed a1 g8 ddl 9 faxdl fad ufafRed o4 W - ol |

ECAR| T 11
YRR L |qal
Aldddlg II. |wErcell 3k

ola|w|e

A ARt | o (e
Hraferdmar IV, | T 3R S_d STt

24 91 WS A9 3{1gd faded T AT
L. A-I, B-II, C-IIL, D-IV
2. AL BIL C-IV, DI
3. Al B-L, C-IV, D-III

4. A-IV, B-1, C-II, D-III

Question Number : 133 Question Id : 342123905 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Ugcil ddl 7 foxdt MGy ufaied 1 g3 dcl 9 faxil fad ufdfed od s firedH |

Tl I TSl I
A | HAaHSY L |7g 4y dad
B. |gmnTw I |HediR derd d urs
c. [varfm 1. |fea-dd
D. | e v, |FofgTd
24 91 s od1d 3Mgd [dded 1 AL

1. A-IIT, B-1II, C-IV, D-II
2. A-IIT, B-1IV, C-1, D-IT
3. A-IV, B-1I, C-1, D-III

4. A-IV, B-1, C-II, D-III

Question Number : 133 Question Id : 342123905 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gl d<l = fe<il iy ufafed a1 g8 ddl 9 faxdl fad ufafRed o4 W - ol |

Tl 1 el I
A | faEEYl 1 |7Ie Yo 98t
B. |omiTE I |HRHR. T/ d Ursl
c. |varfm 1. |fee-ad
D. |G Rm v, |Bofodd
3¢ 1 s old1d 318 fdded 11 gHI:

1. A-IIL, B-1I, C-IV, D-II
2. AL, B-1V, C-I, D-TI
3. A-IV, B-1I, C-1, D-III

4. A-IV, B-1, C-II, D-III

Question Number : 134 Question Id : 342123906 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Ugcil ddl 7 foxdt MGy ufaied 1 g3 dcl 9 faxil fad ufdfed od s firedH |

qe 1 T I
i %ﬁﬂ“ﬂ L | mm, mon, Rien 991 S Gk @ ToRd &
B. aam-gﬂ I | d =3 0 & O aene e a1 faam
T — - WW-W?{@@nwéﬁwmmGﬁa?Tﬂﬁmﬁfﬁ
D. |HcGUw sgc gt | Iv. | WIidarg] faaReyRI & TR 1 3awd &l
3¢ 91 %S odME 3Mgd faded 1 -

1. A-1, B-III, C-IV, D-II

]

. A-IL, B-IIL, C-I, D-IV
3. A-IIL B-IL, C-1, D-IV

4. A-IV, B-1I, C-1, D-III

Question Number : 134 Question Id : 342123906 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ugail 94l = f&<i e ufdfed a1 gs dal 9 faxdl fad ufafRed o4 W3 M ol |

dai1 ECiRl
A %ﬂg:ﬂﬂ L |38 S, Ha. e sk ¢ @ 7 BRd o %l
e 1 | A O € e R 5 o e
g [ — - ;ﬁ_{%%\dnlW—andﬁ@ﬁ@ﬁédéﬁﬁﬂmﬁdﬁddﬁmd@%fﬁ
D. |HEUw ded et | IV. | WRTidaTe] faaReRI & TR 1 5E3d ol

¢ 91 &3 od1d 3Higd faded 11 gl

1. A-1, B-III, C-IV, D-II

t-2

. A-IL, B-IIL, C-I, D-IV

3. A-IIL B-1I, C-1, D-IV

4. A-1V, B-1I, C-1, D-III



Question Number : 135 Question Id : 342123907 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ugail 94l = fe<i e ufaf<ed a1 gs del 9 faxdl fad ufafked o4 W3 M- o |

del 1 4 I
A | L |Effegidy
B. [g3T I W9
c |¥g I1I. | &TaT fort
D. [HH IV, |9Hi 9l
3¢ 1 %S od1d 3Mgd faded T gl

1. A-IV, B-11I, C-II, D-1I

B

. A-IL, B-TIL, C-IV, D-I
3. A-IIL, B-IL, C-1, D-IV

4. A-IV, B-1, C-II, D-III

Question Number : 135 Question Id : 342123907 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

el 4l 9 faii 7ifed ufafked a1 g5 =9l @ fa=il fad ufdafRed o7 ws faH a1

TSI T
A |SEA I |eifeai b
B. |g3T I |Wug
c. |dg 1L | s fort
D |gHTR I R
3¢ 91 &5 oad 3fgd [dded 1 AL

1. A-IV, B-1II, C-II, D-I
2. A-1I, B-IIIL, C-1V, D-1
3. A-III, B-11, C-1, D-IV

4. A-IV, B-1, C-II, D-III

Question Number : 136 Question Id : 342123908 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



gl <4l 9 fo=il 7ifed ufafRed <1 g =<l @ fowil fad ufafRed od ws fAam &1

ECAR TSl 11
A (USRS | L |THare
B. |fHHa T I. | Eifaieh
C. |ufdengas I | eafarat
D. [AfRA T IV. |SeipRarg!
3¢ 91 WS a9 3Mgd [aded 11 AL

1. A-IV, B-11, C-1, D-III
2. A-IIT, B-1V, C-11, D-1
3. A-IIT, B-1, C-1V, D-I1

4. A-IV, B-1, C-II, D-III

Question Number : 136 Question Id : 342123908 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gl d<l = fe<il iy ufafed a1 g8 ddl 9 faxdl fad ufafRed o4 W - ol |

el 1 et 11
A |UUSRE SFEAY| I |3gare]
B. |sffHa T 1. | e
C. |ufdenga= 1. | &gl
D. |AfEAwE IV. | 3cidhrae!
3¢ 91 s old1d 3M1gd fdded 11 gHI:

1. A-IV, B-II, C-1I, D-II
2. A-III, B-1V, C-1II, D-1
3. A-IIT, B-1, C-1V, D-I1

4. A-IV, B-1, C-II, D-III

Question Number : 137 Question Id : 342123909 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Ugcil ddl 7 foxdt MGy ufaied 1 g3 dcl 9 faxil fad ufdfed od s firedH |
T I el I

RSB L |gyrfarg

Higdarg &1 ufaure I |3 AyHHaas

EICEREIREICEREI=] 1. | SffiedeHang

B olfed & faa W fay | 1v. | snyfpdmarg

276 91 &5 oldid 3figd faded 11 Al

1. A-II, B-1, C-IV, D-III

ola|w|e

2. A-IIT, B-II, C-1, D-IV
3. A-I. B-IV, C-II. D-TTT

4. A-IV, B-1I1, C-1, D-II

Question Number : 137 Question Id : 342123909 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ogall ddl 9 ot e ufafed a1 g3 dal 9 faxil fad ufdfed o3 W dH |
ECl el 11

oD L |gyriarg

Higdarg &1 ufaure I |3 syfdHanars

Saq Y= o 3 1. | fiedsans

B oAfe ¢ faa W fay | V. | enyfFddmarg

24 91 WS A9 3{1gd faded T AT

1. A-II, B-1, C-1IV, D-III

ola|w|e

2. AN, B-11, C-I, D-IV
3. A1 B-IV, C-II. D-TIT

4. A-IV, B-1II, C-1, D-TI

Question Number : 138 Question Id : 342123910 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Ugcil ddl 7 foxdt MGy ufaied 1 g3 dcl 9 faxil fad ufdfed od s firedH |

Tl I T 11

T BH L |E A
I IERE] L | TS &R0 &l
T8 AT 111 | Yaehl ST
T B v |gEraeH

276 91 &5 oldid 3figd faded 11 Al

1. A-1, B-III, C-IV, D-II

ola|w|e

2. A-IIT, B-II, C-IV, D-1
3. A-IIT, B-1V, C-1, D-IT

4. A-1, B-TV, C-I1. D-III

Question Number : 138 Question Id : 342123910 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gl d<l = fe<il iy ufafed a1 g8 ddl 9 faxdl fad ufafRed o4 W - ol |

Tl T T 11
I Bl I IAE
a5 gaHl 1L |3 &30 oAl

GERRIE I | Yapt ST
T BT v | dEraeHt

24 91 WS A9 3{1gd faded T AT

1. A-1, B-III, C-IV, D-II

ola|w|e

2. A-III, B-11, C-IV, D-1
3. A-IIT, B-1V, C-1, D-IT

4. A-1, B-IV, C-11. D-IIT

Question Number : 139 Question Id : 342123911 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



gl <4l 9 fo=il 7ifed ufafRed <1 g =<l @ fowil fad ufafRed od ws fAam &1

Tat1 It o
A | TIpER THAT L |gFmresEm
B. | ORI 9 BEAT I. |gFaer fGagHt
C. |dd® giE &l 1. | gf-rarert Ya]
D |SFgadE: guis g4 | v | g &t a1s @
3¢ 91 WS a9 3Mgd [aded 11 AL

1. A-IIT, B-II, C-IV, D-1I
2. A-II. B-IIL, C-I, D-IV
3. A-I. B-IV, C-II. D-TTT

4. A-IV, B-1, C-II, D-III

Question Number : 139 Question Id : 342123911 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gl d<l = fe<il iy ufafed a1 g8 ddl 9 faxdl fad ufafRed o4 W - ol |

Tat1 It o
TP TYFT L |gFmg e
Y&l g YAl I | gfrarert foaaHt

el Bl ST 1. |GiFaTaR! TaeH
TaEL-gaEL GUIs 5AT1| IV | g & |18 @@ T

24 91 WS A9 3{1gd faded T AT

1. A-IIIL, B-1I, C-IV, D-1

ola|w|e

2. AL B-II, C-1, D-IV
3. A1 B-IV, C-II. D-TIT

4. A-IV, B-1, C-II, D-III

Question Number : 140 Question Id : 342123912 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



gl <4l 9 fo=il 7ifed ufafRed <1 g =<l @ fowil fad ufafRed od ws fAam &1

Tl T T
A |3 Il ISR
B. (TR I [a9g
C. | R 1L | e ST argl dI3UTd
D |7 V. | gfofiar
3¢ 91 WS a9 3Mgd [aded 11 AL

1. A-1, B-III, C-IV, D-II
2. A-I1, B-III, C-1V, D-1
3. A-IIT, B-1V, C-1, D-IT

4. A-IV, B-1, C-1II, D-II

Question Number : 140 Question Id : 342123912 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ugdl ddl 9 fa<dt ey ufafeed <1 g5 d<l 9 fodl fad ufafed o4 ws mdH 1|

Tl I el I
A |==H L |
B. (2R I |a99
C. | 11 | e HYT- Il dIgurd
D. [FY V. |gfvoltar
3¢ 91 s old1d 3M1gd fdded 11 gHI:

1. A-1, B-III, C-IV, D-II
2. A-II, B-III, C-IV, D-1
3. A-IIT, B-1V, C-1, D-IT

4. A-IV, B-1, C-III, D-II

Sub-Section Number : 2
Sub-Section Id : 34212335
Question Shuffling Allowed : No

Question Id : 342123913 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix



Question Numbers : (141 to 145)
Question Label : Comprehension

Q- fed ¢ Ugx 7 ufed 39S o fax S s & WS 1a1d ATgd f[adped 1 A1

RO ot &1 Sdl $8 ST 3] 48 HRY $Y U I H T $F TR BT B &
URd el U 39 &Ry 37 [ha1U ¢ al-al ddi gic A1 SITRI 9 3T, Sl &, g §1RT 41U il
ISy dIfdhY ¢ al-al IRuNdd = &4 1 g

Id  ddls el

SERREISERE S

gl 3d alals

35 Bl3d  Bdlals

U U Ay Uiy gohe 41qU ¢ fath gu IRund® &9 11 946 A1 7573

qap dPls Sl IBI3Ms SR YU <

g A & I giH 3N o1qU & IR ® U 9 g & ¥ Hidl d Igel dF 9 dadl
Wﬁlﬁflﬂt——

Sl WHT  (§) |ISMH

Sub questions

Question Number : 141 Question Id : 342123914 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

RO fobard <7 el i glar U
1. IR&
2. IRd
3. RUMET

4. IRUGIH

Question Number : 142 Question Id : 342123915 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Jb 4Td &1 311 URUMdd =4 U:

1. G=3 1 Sl g

-2

L8]

TS Y B S

4. ST I TS



Question Number : 143 Question Id : 342123916 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

qd U1 ¢ WRT 9 “-3ls” SISy §9a1 U:
1. Ugell TRUMed fehar-=u
2. YT RIS &4
3. Gy IRUf® =4
4. G IR fobar- =y

Question Number : 144 Question Id : 342123917 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T o1 Y41 G311 IRUNYS Y 94 3R sRkdlgl U:

L. -G 3ls” Uy

f-2

- 3fTs’ T
3. < 3{l3fls’ g
4. - s’ UTg

Question Number : 145 Question Id : 342123918 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TRd Pl 3RAS A
D DRI 3HIged ddl 1M

P Yab 3HIge ddi 1l

=

[

B DR 3 Sl 1l

4. D TIUA 3Tga el 701

L

Question Id : 342123913 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension



v fod ¢ Ugy 1 ufed Sug o fad § gamdl ¢ o5 Siard g faeey it g4

URONeh fohard <1 il S BT T 37U g HRY I U I B off S TR SN B 31
URd BGl Ul 34 By 27 a1l & 18l &dl gic -1 STRI 311, Ol &, Tag S0RT &1y 70
@@WE@@[MWWW?@*&T:"
I Fels Fdels
s dis Solsfls
o Giemd galals

3% BISfd Bell3ls
@WWWWW%W@QW%W?W?%HI@W
qd% dIdbls ol dbiedls FRI YT T |
Bﬁﬂ%ﬁ%ﬁﬁﬂ@%ﬁ?ﬂﬂ%ﬁﬂﬁﬁw?ﬂﬁﬁmﬂﬁﬂaﬁ
gl U -
gl WM (®) W

Sub questions

Question Number : 141 Question Id : 342123914 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

IR fohaTy &7 39ell i glal U:
1. IR®
2. IRd
3. IR

4. IRUGASH

Question Number : 142 Question Id : 342123915 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T ¢Tq &l g3l RN =0 U:

. G off Ui

2. GBI off UBI3{HT

3. SISl T8s

4. TSI S IS

Question Number : 143 Question Id : 342123916 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0
Hd U1 ¢ WRT 9 “-3ls” SISy d4a] U:

U1 TR 4

3. Gfem IRumde U

4. QAT TR fhar =y

—

-2

Question Number : 144 Question Id : 342123917 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Hd 1q YA 3T RUMAS Y 941 3R sRdlal U:

1. - $H3ls” Uy

2

- 3fs* Udg
3, < 3fi3fls’ Uy

4. ~-gHls” U

Question Number : 145 Question Id : 342123918 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

URd ddl 3MRIG -
DT B 3H1gdd el Tl

D Qb TS Bl Tl

—

f-2

L

BT DR 3Ige Sl 1l

4. HHT TIU 3Tgcd Dl i

Sub-Section Number : 3
Sub-Section Id : 34212336
Question Shuffling Allowed : No

Question Id : 342123919 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension



v fod ¢ Ugy 1 ufed Sug o fad § gamdl ¢ o5 Siard g faeey it g4

SIRT SHiadl & Ya-G-gl” DAl & DU W SIRI HiddT &l MGdhid Tl YLl T
T3{1 Ul 3Yc Gdldd SR Siddl & 3¢ did I =Y T 1000 3. & AU G T3 U TR
Ugc M Ugd SRI Siddl &1 3MfGdId 1675 5. BT 1850 5. TR HASA T13M1 g1 d Uga 3G
bfdd 9 fh2 3=7d Hidd < 3felrdl THR I, <dl fadr, 7aR™, SR, d0g 97R1 <4 Hiqd
&l SR U1 39 ®idd € 91 SITRI Siddl &1 YR docd-doed G E! d g1 H Sig, MY, Hedl
TR S, §1d] IR S8 Hidd U1 GiTe ¢gd 39 IR &l Ml sRAIR IRdT | usd
EXGd Rl R ¢ 3@ g Did g o= eAPIell Hiddl o YD SR Hiddl & 31e 3b
Fol Gl I HRC gls THIS GUR & YR 11T d&va|

3o SRR Hiddl & FY-GATaH dR e bidl ol df Uga 9 HA-Sd & Ha-Pbd AdnTd ol
s 94 yan fewa- 11 [fyere 1 Ugd % Sald<g Biddl &l didardl 81 IR 3] W6 Hiddl,
BeHH Biddr, Aaiid, dsferi, g, Ydgd, I, Jed, HRAl, dRI, HRAT, o, 1id,
Wedicd, Uhd S, Helhl 3l Jd &4 9 SFRI diddl 3 30+ IRd §915 U] 94 d
B3P g 962N Biddl & UANT o SR 9 WY g3 d3c |

Sub questions

Question Number : 146 Question Id : 342123920 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

g1 HIg Hiddi ¢ &id 7.
1. HRIRM
2. TGN
3. TR

4. flEt_‘l HYG

Question Number : 147 Question Id : 342123921 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

giad Q! & Sild-Plc ﬁ:
1. 1882-1943
2. 1892-1955

3. 1886-1948

s,

. 1890-1956



Question Number : 148 Question Id : 342123922 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SITRI 9 dadl ©¢ fera- 3Mgd W[ Hid -
o0 g

HIdeY SFR]

—

]

RUT A G311

L

4. UenT=] UHT

Question Number : 149 Question Id : 342123923 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3¢ 9 $agad Bigdl ¢ UgE Bid :
2. 3P R, UIHT I8, Hdly TofiRar
3. UGHI dcd, YT UHl, fordg eyl

Question Number : 150 Question Id : 342123924 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SR 9 gy 2Hi o] 7T97d &1 Y U:
CIEREI

3.

4. A1 A

[

B

Question Id : 342123919 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension



v fod ¢ Ugy 1 ufed Sug o fad § gamdl ¢ o5 Siard g faeey it g4

SIRT SHiadl & Ya-G-gl” DAl & DU W SIRI HiddT &l MGdhid Tl YLl T
T3{1 Ul 3Yc Gdldd SR Siddl & 3¢ did I =Y T 1000 3. & AU G T3 U TR
Ugc M Ugd SRI Siddl &1 3MfGdId 1675 5. BT 1850 5. TR HASA T13M1 g1 d Uga 3G
bfdd 9 fh2 3=7d Hidd < 3felrdl THR I, <dl fadr, 7aR™, SR, d0g 97R1 <4 Hiqd
&l SR U1 39 ®idd € 91 SITRI Siddl &1 YR docd-doed G E! d g1 H Sig, MY, Hedl
TR S, §1d] IR S8 Hidd U1 GiTe ¢gd 39 IR &l Ml sRAIR IRdT | usd
EXGd Rl R ¢ 3@ g Did g o= eAPIell Hiddl o YD SR Hiddl & 31e 3b
Fol Gl I HRC gls THIS GUR & YR 11T d&va|

3o SRR Hiddl & FY-GATaH dR e bidl ol df Uga 9 HA-Sd & Ha-Pbd AdnTd ol
s 94 yan fewa- 11 [fyere 1 Ugd % Sald<g Biddl &l didardl 81 IR 3] W6 Hiddl,
BeHH Biddr, Aaiid, dsferi, g, Ydgd, I, Jed, HRAl, dRI, HRAT, o, 1id,
Wedicd, Uhd S, Helhl 3l Jd &4 9 SFRI diddl 3 30+ IRd §915 U] 94 d
B3P g 962N Biddl & UANT o SR 9 WY g3 d3c |

Sub questions

Question Number : 146 Question Id : 342123920 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

g1 HIg Hiddi ¢ &id 7.
1. HRIRM
2. TGN
3. TR

4. flEt_‘l HYG

Question Number : 147 Question Id : 342123921 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

giad Q! & Sild-Plc ﬁ:
1. 1882-1943
2. 1892-1955

3. 1886-1948

4

. 1890-1956



Question Number : 148 Question Id : 342123922 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SITRI 9 dadl ©¢ fera- 3Mgd W[ Hid -
1. & fig

HIdeY SFR]

]

L

RUT A G311

4. U1 UHl

Question Number : 149 Question Id : 342123923 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3¢ 9 $agad Bigdl ¢ Ug9 BHid :
2. 3D feR, MH H-51, Yoy GeIRRam
3. UGHI Ydcd, YT UHl, fordg eyl

Question Number : 150 Question Id : 342123924 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SR 9 gy 2Hi o] 7T97d &1 Y U:
1. & Ufeal 3 IR
2. GIAF-UTTd
3.
4.0 &




